n+21.29=
pre n=91
62.4+n=
pre n=3
n+51.25=
pre n=7
n.22+10=
pre n=8
8.n-4=
pre n=2
64:8-n=
pre n=4
8.54+n=
pre n=4
(89-n) .12=
pre n=20
64:n-1=
pre n=4

n+ (50+2) =
pre n=67

5+3.n=
pre n=39
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Ur¢ hodnotu vyrazu pre dané n:

79.n+4=
pre n=38
76+31-n=
pre n=4
(97+n) +1=
pre n=27
94+n-4 =
pre n=3
6+ (81:n)=
pre n=9
(61.n) +2=
pre n=5
69+n-2=
pre n=18
55:n-3=
pre n=5
(64.n) -11=
pre n=2
8.(n-5=
pre n=51

n-1+5=
pre n=6

40:2.n=
pre n=12
66:n.11=
pre n=2
6.n—-4=
pre n=35
(64-5+n) =
pre n=1
n:8.45=
pre n=40
88+n+29=
pre n=36
7.n+4=
pre n=33
94:n+53=
pre n=2
n+18.2=
pre n=5
n+52-55=
pre n=8

97-n.0=
pre n=3
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